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Question Number : 1 Question Id : 544734161 Display Question Number : Yes Is Question
Mandatory : No

X

The real valued function f(x) = + % +1 defined on R \ {0} is

e*~1
R\ (0} D600 7 e Gapiw f(x) ==+ % 11, 2¢
e
Options :
An odd function
|y 8% pBoanan

An even function
20 Ddooiaw

Both even & odd function
%0 H0dain o FoFablantFubh)

Neither even nor odd function

4 % 26 57 B0k £ DAODAD 5L

Question Number : 2 Question Id : 544734162 Display Question Number : Yes Is Question
Mandatory : No
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1
[x]-1

The domain of the function f(x) = where [x] is greatest integer function of x is

1
[x] 036 x awE), T8 Ty AP , fx) = —— & pIoohaw ax0g), HEFA

[x]-1
Options:
2. % R — {1}
, « R—1{0,1}

Question Number : 3 Question Id : 544734163 Display Question Number : Yes Is Question
Mandatory : No

X

=
Let f:R - R be a function defined by f(x) = 5

. what is the value of f G) +2f G) Wi G) =1

X

f:R ~ R &3 53080 f(x)

s () (2 (2o

Options :

1.*4
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Question Number : 4 Question Id : 544734164 Display Question Number : Yes Is Question
Mandatory : No

For what natural numbers n € N, the inequality 2" > n + 1 is valid?

2" = n 4 1 edEsnsn nd IS Hire 208 n €0l DeSIN?

Options:
1 % VneN

4 % VneEN-—-{23}

Question Number : 5 Question Id : 544734165 Display Question Number : Yes Is Question
Mandatory : No

b+c a a
The value of | b c+a b 15
c c a+b
b+rc a a
b c+a b :}g’dsf.”gj DD A7
c c a-+b
Options :
1 % abc

5 % (a+b)(b+c)c+a)

3 @ 4 abe
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4. % (a—b)(b—c)(c—a)

Question Number : 6 Question Id : 544734166 Display Question Number : Yes Is Question
Mandatory : No

Let A, B, C, D be square real matrices such that C* = DAB,D" = ABC,S = ABCD then $? is
equal to

AB,C,D w0 7 536 ar@sen CT = DAB, DT = ABC, S = ABCD ecbibtved §° &
PATHA00030

Options :

1.% S

LB =

Question Number : 7 Question Id : 544734167 Display Question Number : Yes Is Question
Mandatory : No
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15 W 20 3 5
A=112 B> 41|andB=|2 2b 8 | are two matrices such that the sum of the
35 61 ¢ 1 4 2-3

principal diagonal elements of both A and B are equal. then the product of the principal

diagonal elements of B 1s

a® 15 31 2a¢ 3 5
A=|12 p2 41|%BawB=|2 2b 8 ar@éué‘!)@wéi)égm 59
35 61 c? 1 1 Ze-3

Jrosw A PATIDY B rde &' HErd J8gin &3 Jures vpdw

Options:

1.334

3.v —%

Question Number : 8 Question Id : 544734168 Display Question Number : Yes Is Question
Mandatory : No

a a+l a-1
Leta,b,cbesuchthatb+c#0and|-b b+1 b-1|+
¢ ¢=1 piid

atl o e |
g2 h—1 gt
(_1)n+2a (—'l)n_lb (-1)“!:

= (). then the value of ‘n’ 15

a a+t+l a-1 atl b+1 c—1
abcwobt+c+08080|-b b+1 b-1|+| a-1 h-1 c+1 |=
¢ c—-1 c¢+1l 1D"a D" D"

0 e2008 ‘n’ Ded
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Options :
Zero
%\J"a‘)é;ﬁ.u

Any even imteger
~0 fb;ng“osmj

Any odd integer

3 @ e RPToS00

Any integer
. DB YT osA0

Question Number : 9 Question Id : 544734169 Display Question Number : Yes Is Question
Mandatory : No

If |z—2| = |z — 1| . where z is a complex number, then locus ‘z” is a straight line
Z 08 ;‘ooég Rod) lz—2| =z—1] wdialgeaepp 'z’ S, DoRdDEHW Arow NG

Options :

Parallel to x — axis
| % X OIS DIToBEIN

Parallel to y — axis
o Y e9EPAS AAT oG

Parallelto y = x
3 % V=X S R0TeB0a0
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Paralleltoy = —x
V= —Xx 8 RaTodGa0

Question Number : 10 Question Id : 544734170 Display Question Number : Yes Is Question

Mandatory : No

m

o e —
If ( — ) = 1. then ‘m’ can not be equal to
—

m

1+1
(1 f) — 1 9008, ‘M’ £ PATFDID IO
— L

Options :
1.« 1934

, % 2024

L x 2172

4% 1[]10[1

Question Number : 11 Question Id : 544734171 Display Question Number : Yes Is Question
Mandatory : No

2
If 1 + x? = +/3x, then ¥2* (xn —x—ln) is equal to

fi=1

2
1+x% =/3x. o8 T2, (" — =) Dende 2ar3D6

Options :
1 % 48
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, v —48
5 % —24
4.% 24

Question Number : 12 Question Id : 544734172 Display Question Number : Yes Is Question
Mandatory : No

1 1 : '
If @, § are the roots of 11x* + 12x — 13 = 0, then? + ? =7 (approximately close to)

1 1

11x* +12x - 13 =0, AREBET DS a,f o orudd, — + F AATE Des?
a

Options:

1. % 4.54

o % 3.54

3 v 254

4 % 1.54

Question Number : 13 Question Id : 544734173 Display Question Number : Yes Is Question
Mandatory : No

— W . 4 2
The value of ‘a’ for which the equations x™ + ax+ 1 =0and x™ + ax” + 1 =0 havea
common root is

X tax+1=0 20000 x* + ax’ + 1= 0 HDEdrroL 6208 JuPeo Gol. ‘a’ Densd

Options :
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Question Number : 14 Question Id : 544734174 Display Question Number : Yes Is Question
Mandatory : No

If ‘a’ is a positive integer such that roots of the equation 7x? — 13x + @ = 0 are rational
numbers, then the smallest possible value of “a’is

a’ ws O *’.angosm. 7x2 — 13x + a = 0 HDECETIS Jredwey B8
moa:;émna, ‘0 T s.i)t’.ﬁ.;x Qo0 doth?

Options :

1.535

). 6

Question Number : 15 Question Id : 544734175 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Let p and q be the roots of the equation x* — 2x + 4 = 0 and let r and s be the roots of the

equation X —18x+B=0.1f p<q<r<sareinAP. then the values of A and B are

22— 2x 4 A = 0 0863 p 0805 g v Swreren 28akw x2 — 18x + B =0
LTS T ABOKY 5 L0 ANTETRD, P < g < T < § ) WosIAE ot A Bakw B
DD SR

Options :
1.#—3, 77

, % 3, =77

2 % 377

e

Question Number : 16 Question Id : 544734176 Display Question Number : Yes Is Question
Mandatory : No

[:ﬂ'_le

1 .
Bl €rew, —1 Py — .11+ 15 equal to

1 1
1 <7 < n onINE — P — VTUE LT € 2ard000
Options :

n
P n

1. ®

n—1
P
2. "

17
3 % P n+1
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Question Number : 17 Question Id : 544734177 Display Question Number : Yes Is Question
Mandatory : No

In how many ways 4 balls can be picked from 6 black and 4 green colored balls such that at

least one black ball is selected?

40 28 A o aﬁfﬁamén, 6 ApR) bodw 4 By Goben (o Lodow od 4
200 AGHLAD?

Options :
1. % 212

, % 210

5 v 209

Question Number : 18 Question Id : 544734178 Display Question Number : Yes Is Question
Mandatory : No

In how many ways can 9 examination papers be arranged so that the best and the worst papers

are never together?

&0 50033, 8O BEB Totd DOS DO w8 BB TR, I VG ) eV

90y i
Options :
1 % g1 —21% 7
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, »91—21x8!
3 % 9! —8!

9! -7

Question Number : 19 Question Id : 544734179 Display Question Number : Yes Is Question

Mandatory : No

—x® + 6x + 13 _
3x+5)(x* +4x + 4)

Which of the following 1s a partial fraction of (

—x*+6x+13
(3x +5)(x* + 4x +4)

038 & S0b D F2E DTm) VD VATV BR?

Options :
3 L o =1 2
¢ 3x+5 x+2 (x+2)°

1.

2 m —1 n 3
3x+5 x+2 (x+2)?

2. %

-1 5 2 " 3
3x+5 x+2 (x+2)°

3. %

3 L 2 N -1
3x+5 x+2 (x+2)?

4, %

Question Number : 20 Question Id : 544734180 Display Question Number : Yes Is Question

Mandatory : No
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In a triangle ABC.1f3sinA + 4 cos B = 6 and 4sin B + 3cos 4 = 1. then sin(4 + B) is equal to
ABC 920u508° 3sinAd +4cos B = 6 208050 4sinB + 3cos A = 1 exod sin(4 + B) dewd

Options :

4 % €0sC

Question Number : 21 Question Id : 544734181 Display Question Number : Yes Is Question
Mandatory : No

tana + 2 tanZ2a + 4tan4a + 8 cotBa =

Options :
1 » tanléa

Question Number : 22 Question Id : 544734182 Display Question Number : Yes Is Question
Mandatory : No
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cotx o
H f{x) = r—— and a4+ f = & then the value of f(a) f(f) =
cotx o7 :

fix) = — sudaiv a + f =l es00 f(a) f(B) =
Options:

3
1. % 2
2. %

—1
3.% 2

1
4.9 2

Question Number : 23 Question Id : 544734183 Display Question Number : Yes Is Question
Mandatory : No

If 6 €]0,2n] and cos 26 = cos § + sin 6 then the sum of all values of 8 satisfying the
equation 1s

cos 26 = cos 6 + sin § PEGEEAS [0, 217] oS6:08° S FETR ABA

Options :
21

1. %8 2
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Question Number : 24 Question Id : 544734184 Display Question Number : Yes Is Question
Mandatory : No

For how many distinct values of x. the following sin[2 cos ! cot(2 tan™ x)] = 0 holds?

X 0B0g), D) DD Dewdesd sinf2 cos™ cot(2tan™ x)] = 0 daPdod

Options :

1.338

Question Number : 25 Question Id : 544734185 Display Question Number : Yes Is Question
Mandatory : No

In AABC. suppose the radius of the circle opposite to an angle A is denoted by ry. similarly
r, e angleB.r; o angle C.Ifry = 2,1, = 3,73 = 6. what 1s the value of ry + 1, +13—1 =

(R — Radius of the circum circle)

I o3l 58 msﬂ"gm;. =215 =3,1r; =6 Q0 0T Semen 4, B, € v b
o ey )3 J&é‘%ﬁ;}w ood, 1y + 15+ 13 — 1 = Deud Jod (R 1838 a"ébﬂg;‘m)
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Options :
1.v 4R

> % 3R

3 % 2R

Question Number : 26 Question Id : 544734186 Display Question Number : Yes Is Question
Mandatory : No

I ; le ABC a+b+c i ath+c 314 i o
1riangie " — 1211 tall——
g BC+AB ' AC+AB 8
ABE et e TE BB o e
Soa HEiAD " ACTAR T Doamliat gy
Options :

1% V6+V3+y2-2

3 o V6—V3+y2-2

4% V6+V3—V2+2

Question Number : 27 Question Id : 544734187 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following vector 1s equally inclined with the coordinate axes?

& 806 TOS" D 20 eTOS VIATD ) B 5DA God?

Options:

1}3?+2f+3§
, w21 —2j+k

5 x 31 +3j -3k

4«43+4}+41

Question Number : 28 Question Id : 544734188 Display Question Number : Yes Is Question
Mandatory : No

Fi+4) +3k 1+2] +3%.37 +2] + kare position vectors of 4, B, C respectively
and 1f D, E are mud points of sides BC and AC, then DE is equal to
?+45+3k?+23+3%3?+2?+Eenam&mAjacvgwm&muBcammm
AC © 6] Doda)en S6R D, E e wond, DE & RAFADNG

Options :

1_gg’i"drj'+’.*1%
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Question Number : 29 Question Id : 544734189 Display Question Number : Yes Is Question
Mandatory : No

X tercept of the plane containing the line of intersection of the planes x — 2y +z4+2=10
and 3x — y — z+ 1 = 0 and also passing through (1,1,1) is

(1,1,1) Doty oot TFér S0dow x —2y +2+2=0,3r—y—z+1=0 dero
Dot B DA Gol B0 X 080 Dot

Options:
1

1.% 3

Question Number : 30 Question Id : 544734190 Display Question Number : Yes Is Question
Mandatory : No

s
a.b

If @ and b are two vectors such that - Wl < 0 and |F.b ‘ = |E XD | then the angle
a

between the vectors @ and b is

a,b maus;;,l 7] <0000 [@.b [ = [a'x b | 0ond T, be 26| Endw
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Question Number : 31 Question Id : 544734191 Display Question Number : Yes Is Question
Mandatory : No

Let L (resp. L,) be the line passing through 2i — k (resp. 2i +j — 3k) and parallel to 3i — j +

2k (resp. i — 2j + k). Then the shortest distance between the lines L and L, 1s equal to

L, 0 82 2i — k ot Tér 3i — j + 2k L DAFBEI0T &otd, 208050 L, 9 0
20+ — 3k ot JAr i — 2j 4 k D D20SG20 ol L, 08k L, © Dd| SRy
GG Jodd?

Options :
10

]
2l
#n}

N

#

{L|
w| o
U

=
[y

3. % V35

4.
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9
V35

Question Number : 32 Question Id : 544734192 Display Question Number : Yes Is Question
Mandatory : No

T
= k. == i —3 :
Leta,b,c be three-unit vectorsand @ .b =@ .¢ = 0. If the angle between b and ¢ is =

then [@, b, F]E =

o
o
;
&,
2}.
5
[~ 18
&
2|
=]
I
2|
)
[
—
g
4
=
%,
e
oy

2
o,
b

(o0 | =

o

Question Number : 33 Question Id : 544734193 Display Question Number : Yes Is Question
Mandatory : No
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Let x, v are real numbets. If @’ = (sinx) 1 + (sin y)} andb = (cosx) i + (cos y) ;; then

| axh | is

X,y 00 TR RoRen. @ = (sinx)i + (siny)j Bk b = (cosx)i + (cos y)] ©ond.
| @ x b | ), e
Options:

1.330

Greater than o112
. o 7 Saﬂi JJQJEJ:::

Less than or equal to 1

“2i s:r“l e:’#ébb;ﬁ T° DATHSADL
3.

Less than 1

) w g By ;'T:L @53&;3

Question Number : 34 Question Id : 544734194 Display Question Number : Yes Is Question
Mandatory : No

The mean and variance of ‘n’ observations Xy, X,, X3, ... .. ..., X, are 5 and 0 respectively. If

2 ;
i1 X, =400, then the value of ‘n’ is equal to

X1y X Xy o ey Xy BT OV B0S0G(2000 5 D08 0 oot E:‘:le =400 ewond n =

Options :
1, % 80

2, % 25
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5 % 20

4 o 16

Question Number : 35 Question Id : 544734195 Display Question Number : Yes Is Question
Mandatory : No

Mean of the values sin? 10°, sin? 20°, sin® 30°, ... ... ..., sin? 90° is
g 107 gin® 20° 85in®30°,; e _sin? 90° denHdwLd ©908206(500)

Options :
5

1.+ 9

Question Number : 36 Question Id : 544734196 Display Question Number : Yes Is Question
Mandatory : No

‘P" speaks truth n 70 % of the cases and ‘Q” in 80 % of the cases. In what percent of cases are

they likely to agree in stating the same fact

70 % “.-aoc;mave.‘i‘ Pz ArtpeaTred SoBobo 80 % ‘r’occéwé)e.:e?‘i 0 Dz
AP, 18 T Ro0RA) HBeD T D603 DEDersEDE 0 Rogrgd
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Options :
1 % 38%

5 % 48 %
3 % 52 %

4 62 %

Question Number : 37 Question Id : 544734197 Display Question Number : Yes Is Question
Mandatory : No

. 1 5 1
IfA Baretwoevents with P(AN B) = T P(AUB) = - and P(40) = o then the value of
P(BC) is

1 . 5 1 ;
A, B &0 ot 200w, P(ANB) = - P(AUB) = — 0Bk P49 iy esowd P(BY)
Q0D doch

Options :
1

1.8 2

wlm

I::r‘~||:.|1
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Question Number : 38 Question Id : 544734198 Display Question Number : Yes Is Question
Mandatory : No

A coin is tossed 2020 times. The probability of getting head on 1947 toss is

WS Qa“;}is ) 2020 T I, 19475 FB S)mé;ﬁfaaﬁf‘.gj‘)m ) ) H Tl Rofraid

Options:

4w 1947

Question Number : 39 Question Id : 544734199 Display Question Number : Yes Is Question
Mandatory : No

A discrete random vartable X takes values 10, 20, 30 and 40. with probability 0.3,0.3,0.2,0.2
respectively. Then the expected value of X 15

28 mm a3ry3ys ToTs X Qe 10,20,30 20d0iw 40 . & deTioe Rogrde
2 0.3,0.3,0.2,0.2 P.'JZQ)')CiJ 011:927 X evotdT Qe E(X)

Options :
1 % 12
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2. ®

3.v 23

Question Number : 40 Question Id : 544734200 Display Question Number : Yes Is Question
Mandatory : No

Let X be a random variable which takes values 1,2, 3,4 such that P(X = r) = Kr® where r =
1,2,3,4 then

X={1,2,3,4} oiJ“cﬁﬁQS Bomdd r=1,2,3,4 Lbabo P(X = 1) = Kr’ eond

Options:
| 8
=—— and P(i«:;xf:i[x} 1):—
- 100 2 2 97
1
—— and P(ic::X:::£|X::~1) - —
5 % 99 2 2 99

1 a8
K =——— and P(.lr:Xﬁii[X} 1):—
3. 100 2 2 99

1 1
K =—— and P(%L:'Xf:%[}(:a 1):
4% 100

Question Number : 41 Question Id : 544734201 Display Question Number : Yes Is Question
Mandatory : No
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Given two fixed points 4(=2,1) and B(3,0). find the locus of a point P which moves such

that the angle ZAPB 15 always a right angle.

A(=2,1) 208030 B(3,0) &0 Bocts 26 Dociayen. P & 28 190 Dotoid) £APB Eraw
QP oty Ew el desdwm 8. P Do

Options :

L x X+ +x+y+6=0

z.w.rz-[%yz—x—y—é:{}

3 % x+y+6=0

4 % 2x2 + 2y —2x—2y+1=0

Question Number : 42 Question Id : 544734202 Display Question Number : Yes Is Question
Mandatory : No

When the coordinate axes are rotated through an angle 135°. the coordinates of a point P in the

new system are known to be (4,—3). Then find the coordinates of P in the original system.

135° Emod’ w30k B0 BV P & Do ), s ardse (4,-3)
eaNd, w9;b5:)§é‘ P Dot aing), AArDEVRY SR

Options :

= =)
1w W27 2
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1 i

(& &)

& &)
Lx W22

Question Number : 43 Question Id : 544734203 Display Question Number : Yes Is Question
Mandatory : No

IfA(4,7). B(=7,8) and C(1,2) are the vertices of AABC. then the equation of perpendicular

bisector of the side 4B 15

(4,7). B(-7,8) &vdatn C(1,2) ew AABC Szdad) %‘g"m 0008, AB Fiza0 ag), Vb
DBDOED B PEDEAD

Options :
1. %« x—11y—24 =20

, % 1lx+y+24=0
11x—y+24 =0

3.

4% 1lx+y—24=0

Question Number : 44 Question Id : 544734204 Display Question Number : Yes Is Question
Mandatory : No
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The ratio in which the straight line 3x + 4y = 6 divides the join of the points (2,—1) and
(1,1)1s

3+ 4y = 6 966D, (2,—1) 2080 (1, 1) Docddyd &3 G )
Dsined.

Options:
1 % 1:4

Question Number : 45 Question Id : 544734205 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a line passing through the point (4 ,3). which cuts a triangle of minimum

area from the first quadrant,

(4,3) Dot oot TP, 0csE) Fc5:50085" 0BT B dg), DTV o
Eodit ok HEvBa) RAECHAY

Options :
1. ¢ 3x +4y = 24

, % 26=y=5

4 % X—2y=5
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Question Number : 46 Question Id : 544734206 Display Question Number : Yes Is Question

Mandatory : No
If the orthocenter of the triangle formed by the lines 2x + 3y —1=0.x4+2y+1 =0 and
1

. : i 1
ax + by —1=0 lies at origin, then — + T
a

2x+3y—1=0.x+2y+1= 020000 ax+ by - 1 = 0 26e0p08 D6\ dzbai)
1 1
LotSodo durwdodisy) oS, =

Options :

1.% 0

Question Number : 47 Question Id : 544734207 Display Question Number : Yes Is Question
Mandatory : No

The equation 8x% — 24xy + 18y% — 6x + 9y — 5 = 0 represents a

8x% — 24xy + 18y% — 6x + 9y — 5 = 0 PDEGeA0 w8 D ArO6E.

Options:
pair of perpendicular lines

1 % Dok) DDV 230k
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pair of parallel lines

5 & RATTeddE Tow 2ok

pair of coincident lines

3 % 232D e 2ok

parabola
4 % PTOVA

Question Number : 48 Question Id : 544734208 Display Question Number : Yes Is Question
Mandatory : No

Find the angle between the pair of lines represented by the equation x? + 4xy +v? = 0.

1?4 4xy + v = 0 de6edn wordod See 26| S

Options :
1. % 30°

, % 45°

3 v 60°

4. % 20°

Question Number : 49 Question Id : 544734209 Display Question Number : Yes Is Question
Mandatory : No
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: = A
If the acute angle between lines ax® + 2hxy + by® = 0s e then 4h% =

@ + 2hy + by? = 0 2am{doid 0660w | owE B % 00, 4h? Ded

Options :
1% a® + 4ab + b?

5 a® + 6ab + b2

. « (a—2b)(2a+b)

4 % a* —6ab + b?

Question Number : 50 Question Id : 544734210 Display Question Number : Yes Is Question
Mandatory : No

The angle between the lines represented by cos 8 (cos + 1)x% — (2 cos 8 + sin? §)xy +
(1-cos@)y?=01s

cos B (cosf + 1)x? — (2 cos B + sin2 8)xy + (1 — cos 8)y2 = 0 HDEGHAD Arodd
R6E8L 0¢8] Erdw

Options :
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Question Number : 51 Question Id : 544734211 Display Question Number : Yes Is Question
Mandatory : No

The equations of the tangents to the circle x* 4+ y? = 4 drawn from the point (4,0) are

(4,0) Dociox) Aol 1%+ y2 = 4 SIS (0 0660 VeSETTLD

Options :

1.«'}"724—%%(}?—4)
2. % y=tzG—4)
3. % ‘_+%(}*—4)
4 % ‘:i%(y—a})

Question Number : 52 Question Id : 544734212 Display Question Number : Yes Is Question
Mandatory : No

If P(~9,~1) is a point on the circle x% + y* + 4x + 8y — 38 = 0, then find equation of the

tangent drawn at the other end of the diameter drawn through P.

x2 4 y? 4 4x +8y— 38 = 0 e P(-9,—1) a8 Dot P oot b TfR80
), 8 TR 36 A9 10y6,00 ADEGRAD
Options :

1. & 7x — 3y =60
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3. # 7x + 3}’ = 56

4 % 7X + 3y =60

Question Number : 53 Question Id : 544734213 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a circle whose radius 1s 5 units and passes through two points on the x-
axis which are at a distance of 4 units from the origin.

5 cfardb) aﬂsbgo £00, o) Qrodot) Aot) 4 APl ARG ok Botd
Dot Aot Tad Sydan HEEmAN

Options :

| x X*+y?—6x—25=0

, 2 X°+y*—6y—25=0

s X Yy +6y—16=0

4% XHyi+ex—16=0

Question Number : 54 Question Id : 544734214 Display Question Number : Yes Is Question

Mandatory : No
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If a foot of the normal from the point (4,3) toacircleis (2,1) and2x—y—-2=01sa

diameter of the circle, then the equation of circle 1s

2x —y—2 =0 26¥0 T{Ror™ (i 2.8 SR8 (4,3) Dotdd) Aot) Arm DVotdY
oG (2,1) ond, &8 S8 ECHaD

Options :

| By +IELTI=D

) % X2 +y*+2x—1=0
3@ Xty =2x—-1=0

4, % 2(x2+y*)—2x—1=0

Question Number : 55 Question Id : 544734215 Display Question Number : Yes Is Question
Mandatory : No

The length of the tangent from any point on the circle (x — 3)? + (y + 2)% = 5r% to the circle

(x=3)% 4 (y +2)* = r¥is 16 units. then the area between the two circles in sq. units is

(x=3)% 4 (y+2)> = 52 S0 DA DB Dotkosd) ol (x - 3)2 + (v 4 2)* =r? 3528
(i y6\82 Ty 16 abrden wand, & B Sgre Ddjio dToEn . chrdwd’

Options :

2. % 4m
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Question Number : 56 Question Id : 544734216 Display Question Number : Yes Is Question
Mandatory : No

The equation of the circle, which cuts orthogonally each of the three circles x* + y* — 2x +
3y—7=0.x2+y2+5x-5y+9=0and x2+y*+7x-9y+29=0

Pyl - 2043y-T7=0.22 4y +5x -5y + 9= 0280 x? +y2 + Tx — 9y +
20 = 0 350" 90 50 LouBEVAD B 3B PRI
Options :

" x24+y2—16x—18y—4=0

Question Number : 57 Question Id : 544734217 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the parabola which passes through (6, —2). has its vertex at the origin and
its axis along the y-axis.

(6,~2) Doty thotr T, Sureidocidd) ¢ 300 SBokw y-Lanp T ) (o
DT HVODHAN PASGA
Options :

1 % y2=18x
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, % X2 =18y
3 % j_rz = —18x
4 il —18y

Question Number : 58 Question Id : 544734218 Display Question Number : Yes Is Question
Mandatory : No

In an ellipse. if the distance between the foci 1s 6 units and the length of 1ts minor axis is 8
units. then its eccentricity i

28 BE5B0 dWE), TEF{eSdAw 6 AP 2BaK FPIERY TeY § ohrdew
o8, & 6:8) 068 Jend

Options :
1

1.% 2

N
%
r_rllul

- .
mll i

r_rllu:-

Question Number : 59 Question Id : 544734219 Display Question Number : Yes Is Question
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Mandatory : No

If the pomnts (2,4,-1). (3,6,—1) and (4,5, 1) are three consecutive vertices of a

parallelogram. then its fourth vertex 1s
(2,4,-1).(3,6,—1) &odasw (4,5,1) Dotoapen w8 DAreds BN B HAR %’g"w
owd, TR Teurd 360

Options :
1. \,_,{-" {3 » 3 ] 1-)

Question Number : 60 Question Id : 544734220 Display Question Number : Yes Is Question
Mandatory : No

A(-1,2,-3), B(5,0,—6), C(0,4,—1) are the vertices of a triangle ABC. The direction

cosines of internal bisector of ZBAC are

A(-1,2,-3), B(5,0,—6), C(0,4,—1) » ABC Qb %ng eoand, ZBAC Emdw a8,
©0d6E R-A(WE T e A5 &R0 Benw.
Options :

25 8 -5
1 % V71% 'Y712 "\714

25 8 5
5 o V714 'V714 'y712
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5 6 8
3 % V74 '74 74

-5 6 -8
4 % V74 '\74 "\74

Question Number : 61 Question Id : 544734221 Display Question Number : Yes Is Question
Mandatory : No

If the projections of the line segment AB on XY, YZ and ZX planes are v/15,/46, 7

respectively. then the projection of 4B on y-axis is

XY, YZ 0808w ZX derod’ AB B3 pockdw Gwg), DEdren S V15,1/46,7 eond,
Y5309 AB Gwg), DF080 dodt?

Options:

1.% 9

2. ¢ 3

Question Number : 62 Question Id : 544734222 Display Question Number : Yes Is Question
Mandatory : No
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Find the equation of the plane passing through the point (2,1, 3) and perpendicular to the
planes x —2y+2z+3=0and3x -2y +4z-4=0.

(2,1,3) Dothos) Mot Fdw, x — 2y + 22+ 3 = 0 208080 3x — 2y + 4z — 4 = 0 dero
RIOLIANT Gof SRR VEDEGHH BLVA.

Options:
1. ¢ 2y —ayr== ded )
5 % gyt Zu==F—=l)

3 % 2x—y+2z—-3=0

4. % 2x+y—2z—3=0

Question Number : 63 Question Id : 544734223 Display Question Number : Yes Is Question
Mandatory : No

X x
_E S

e X

= ; x+0
()= |
/ 3

? ; %=1

Find the value of *«” for which the function f 1s continuous.

‘@’ g, O DBH P ADEGHINE Ardesed f HDDD) HR0ALAN?

Options :

1.331

2.33{}

3. %
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Question Number : 64 Question Id : 544734224 Display Question Number : Yes Is Question
Mandatory : No

The value of ‘k” (k > 0). for which the function f(x) =

3 v Where x # 0 and
sin(—) log(l + —)

f(0)=8

(¢*-1*

O i

), (k> 0). 20050 f(0) =80 f(x)  ed, k

DUD

Options :

1. 1
2 % 4

3. v 2

Question Number : 65 Question Id : 544734225 Display Question Number : Yes Is Question
Mandatory : No

If log(v1+ x2 — x) = y(¥1 + x2), then (1 + x?) % + xy =

lug(:"v"l + x?% — x} e _1-=(*~,-"1 - xz) o008, (1 + x2) i—i + xy

Options :

1.330
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Question Number : 66 Question Id : 544734226 Display Question Number : Yes Is Question
Mandatory : No

If f"'(x) is continuous at x = 0 and f"'(0) = 4. then find the following value.

X =096 f"(x) 8DS) PoaHin @B f(0) = 4 wowd, S8 Jevd SLoYAW.

_2f(x) —3f(2x) + f(4x)
lim : E

x—=0 X 2

Options :
1.% 4

3 v 12

4 16

Question Number : 67 Question Id : 544734227 Display Question Number : Yes Is Question
Mandatory : No
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I 248+ dy
If v= gx>+ett then — =
dx
y e e " L9008, d—:
dx
Options :
20
1w 7Y
2xy
2w Y71
2xy
3w 17V
2y
g% Y1

Question Number : 68 Question Id : 544734228 Display Question Number : Yes Is Question
Mandatory : No

d 4 cos X
dx — 14sinx/]
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Question Number : 69 Question Id : 544734229 Display Question Number : Yes Is Question
Mandatory : No

j Pyr _ S , - =wl].
The maxunum value of f(x) = sin(x) in the interval [T 5 ?l 15

[_??T , %] @oB630S" f(x) = sin(x) dwg), ABY Jewd

Options :
0

2. % —1

Question Number : 70 Question Id : 544734230 Display Question Number : Yes Is Question
Mandatory : No

Given f(x) = x® — 4x.1f *x” changes from 2 to 1.99, then the approximate change in the

value of f(x) is
o Deoid 2 00D 1.99 & Sr0icd f(x) = ¥ — dx 6 earoned) Ay

Options :
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0.08
, —0.08
. 0.8

. —0.8

Question Number : 71 Question Id : 544734231 Display Question Number : Yes Is Question
Mandatory : No

2 2

X ¥ : :
If the curves — + i 1and y* = 16x intersect af right angles. then a® =
a

3 B
x_2 £ yT =1 080w y? = 16x 35700 28EASEE Lot Potorired), a’ =
a

Options:
2

3

1. %

2
5 % V3

m|4>.

>
#
nlhlm

Question Number : 72 Question Id : 544734232 Display Question Number : Yes Is Question
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Mandatory : No

Let ‘x” and ‘y’ be the sides of two squares such that y = x — x%. The rate of change of area of

he second square with respect to area of the first square is

‘17 0805w ‘Y e SGRMT Botd BudTre iy TEden 00, =X - r* eand,
20058 B0 DTV Gy Tolsd B PGB Sy B

Options :

. i 2
1#,1—314—21

5 w L43x—22°

3 % 2X

. HF 2x3 — 3x2

Question Number : 73 Question Id : 544734233 Display Question Number : Yes Is Question
Mandatory : No

If £"(x) is a positive function for all x € R, f'(3) = 0 and g(x) = f(tan(x) — 2tan(x) +

4) for 0 <x < Ty then the interval in which g(x) is increasing is

f'(3) =0 &bt 0 < x fi% & g(x) = f(tan?(x) — 2tan(x) + 4) @ow. ¥ x € R 03

f"(x) 638)8 DDA o, A wodted’ g(x) B8R YA

Options:

(&)
| % V6 '3
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Question Number : 74 Question Id : 544734234 Display Question Number : Yes Is Question
Mandatory : No

dx =

" 1+x++x+x?
Vi +V1+x

Options :

i,
?(_w"l + x ) + ¢

1. #

> % Vl+x +c

L 20+ e

2
—(1+ ) 1+
4.¢ 3

Question Number : 75 Question Id : 544734235 Display Question Number : Yes Is Question
Mandatory : No
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f(cos x)logcot (i) dx =
2
Options:

(sin x) log cot (i) +c
1. % -

(cosx) log cot (%) 2

2 %

(sin x) log cot (i) +x+c
3.¢ -

. X

(sinx) log cot (—) EE S
4, ® -

Question Number : 76 Question Id : 544734236 Display Question Number : Yes Is Question
Mandatory : No

f Je** + e dx =

Options :

1 1 -

?ex (\f e + 1) e 5 ?Sinh l(ex) + &
1.¢

%ex (\/ e* + 1) + Sinh_I(ex) e

2. %
1 : 1 :
—(13 & 41 ) + —Sinh_l(el) Lo
3. i’ 2 2
4, ®
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Ve £ o™ gy/e® 1 4e

Question Number : 77 Question Id : 544734237 Display Question Number : Yes Is Question
Mandatory : No

i 1 . r .
IfJ m dy = tan(f[::l]) + ¢ ,then f (Uj g

) 1
J Toems dx = tan(f(x)) + ¢ eawd f'(0) =

Options:

1.% 0

Question Number : 78 Question Id : 544734238 Display Question Number : Yes Is Question
Mandatory : No

w2 w2

If f tan” (x) dx= kf cot™(x) dx ,then
0 0

/2

wf2
f tan™(x) dx = Icf cot™(x) dx es00d, DN
0 0
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Options :
1_@,k=1
1
e ===
2
3. %
4 % k=3

Question Number : 79 Question Id : 544734239 Display Question Number : Yes Is Question
Mandatory : No
Z
J xe* dx =
0
Options :

1\_ﬂ_ﬁe2+1

Question Number : 80 Question Id : 544734240 Display Question Number : Yes Is Question
Mandatory : No
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If x% + y? = 1. then
x4+ 3% = 1 ond, e
Options :

vy -4 +1=0

1. %
o T J52 —
5w YO+ +1=0

L » YOO =1=0

4 % _1;(3_.'”:! + 2{1’;}2 +1=0

Physics
Section Id : 5447345
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 544734241 Display Question Number : Yes Is Question

Mandatory : No
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The speed of ripples (v) on water surface depends on surface tension (g). density (p). and
wavelength (A). Then the square of speed (v) is proportional to

Q8 e0BB0AP Bow J (v) BVBIS (0), A Fodd (p) oA Seordaw (1) o
P GEERER. B3, & VY AN aS), 620 BIS WY ArRTIINS” Eotd?

Options :
o

1w PA

Question Number : 82 Question Id : 544734242 Display Question Number : Yes Is Question

Mandatory : No
An object travelling at a speed of 36 kmph comes to rest in a distance of 200 m after the

brakes were applied. The retardation produced by the brakes 1s

36 kmph Srio8 Hasrediod) 28 S Hee Sabrr ©8 200 m Grdo artiodd
3678 D8 0BE'I8 SO0, wowd, G ES\3 B an S(dne Jod?

Options :

| v 0.25 m.s 2

, % 0.20m.s7?
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3 % 0.15m.s7?

4 % 0.10m.s7?

Question Number : 83 Question Id : 544734243 Display Question Number : Yes Is Question
Mandatory : No

A ball 1s projected upwards. Its acceleration at the highest point is
28 08 DS DT BVRE WAW. (18R Dot G ¥ BB Jod?

Options:

Zero
waé.:m

directed upwards
D 635" &0t

directed downwards
208 %S GocoR)

such as cannot be predicted
Qgﬁoz:ﬁe:f:m

Question Number : 84 Question Id : 544734244 Display Question Number : Yes Is Question
Mandatory : No
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A 500 kg car takes a round turn of radius 50 m with a velocity of 36 kmph. The centripetal

force acting on the car 15
500 kg @303 o 2,8 °6 50 m Jﬁﬂ‘gm 1 TT6 Soxy ArGA0e” 36 kmph 8
POSrEoNNG. T DAV DTl LLBW

Options :
1. % 250 N

, % 750 N
5 » 1000 N

4 % 1200 N

Question Number : 85 Question Id : 544734245 Display Question Number : Yes Is Question

Mandatory : No
A motor cyclist wants to drive m horizontal circles on the vertical inner surface of a large cylindrical

wooden well of radius 8.0 m. with minimum speed of 5v5 m. ™%, The minimum value of
coefficient of friction between the tires and the wall of the well must be (g =10m.s7?)
w8 rerd 8% 8.0m J’éﬁ“go g8 DG Ardrsd B8, erd) Aoy, Jeod) dvop &%
5V5m. 57" fiod HOIrHeErORISItnT) (. 08, ¢ P g, FEe e odardd

208 (DEaS A0g), e (g=10m.s™2)

Options :
1 = 0.10

, » 0.64

5 % 0.30
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4 x 0.40

Question Number : 86 Question Id : 544734246 Display Question Number : Yes Is Question
Mandatory : No

Two blocks A and B of masses 4 kg and 6 kg are as shown 1 the

figure. A horizontal force of 12 N is required to make A slip over 4
B. Find the maxumum horizontal force Fy that can be applied on B 5 Fp
so that both A and B move together. (take g = 10 m.s %)

PRI T AT E TR TRTF AT T AT A

6 kg S310-2 €803 B B0y 2r6emdE 4 kg (o3 $9AR 4 62D 12N werdy
SO RoEr>. 0008 A B B e 82 Scdevtish B B30 H03rAeds (61 L8z
DTS o Fp dodd? (g=10m.57%)

Options :
1. ¢ 30N

, % 27N
3 % 32N

4% 25N

Question Number : 87 Question Id : 544734247 Display Question Number : Yes Is Question
Mandatory : No

What 1s the shape of the graph between speed and kinetic energy of a body?
SR TS Sas, (G 353 06 (o e
Options :
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A straight line
1 % ~O¥ O

A hyperbola
€93 0T DLAT0L

A parabola

3 ¢ DT S05800

Exponential
AT T oS00

Question Number : 88 Question Id : 544734248 Display Question Number : Yes Is Question
Mandatory : No

A quarter horse power motor runs at a speed of 600 rpm. Assuming 60 % efficiency, the work

done by the motor in one rotation is

%HP é«mgé:m $DA% 28 rer6 600 Tpm HEE SCADEDB. 60 % GEBR SR,
2% ZA053008° ATErS B D dod?

Options :

1. % 7.4617

> % 74.61]

11193

3. %

4w 11197
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Question Number : 89 Question Id : 544734249 Display Question Number : Yes Is Question
Mandatory : No

A particle of mass ‘m’ is projected with a velocity “u’ making an angle ‘0" with the horizontal.
The magnitude of angular momentum of the projectile about the pomnt of projection when the

particle 1s at its maximum height is

GO0 ‘m’ o w8 Sord) $3uAE 0" Sndw S u 0D S HIvAW BT,
(23 D 565 &)\ D Dotoid) DO geactw Eedad Gy o awe
aBarmAn

Options :

1. 0

mu sin® @ cos 8

2. % 2g

2cos®@sinb

g

2mu

2

mu? sin? 8 cos @

4. 2g

Question Number : 90 Question Id : 544734250 Display Question Number : Yes Is Question
Mandatory : No
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A sphere of mass ‘m’ 1s attached to a spring of spring constant ‘k’
and 1s held 1 unstretched position over an mclined plane as shown
mn the figure, After letting the sphere go. find the maximum length

by which the spring extends. given the sphere only rolls.

m @03 SO 2.8 v k Myord Q08 $DAd a8

E);}om_f-‘o S0 G2 6. & A D0306" Brad DS 48
T SV, Mo FABLED NBY &) 8. 2,8 BT e
g0k fa%;;awg, Fdos B8 203 Syoros” ¢Bi 823
Foow

Options:
2mgsint

1.4 k

k

> % 2mgsin @

2sinf
3 % kmg

2mgcos

4. % k

Question Number : 91 Question Id : 544734251 Display Question Number : Yes Is Question
Mandatory : No
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A girl of mass ‘M stands on the rim of a friction less merry-go-round. of radius ‘R and
rotational mertia ‘1", that s not moving. She throws a rock of mass ‘m’ horizontally n a
direction that 1s tangent to the outer edge of the merry-go-round. The speed of the rock. relative

to the ground 1s ‘v". Afterwards. the linear speed of the girl is

200G SdvsE &) R J’éﬂ"g&ﬁnrﬁi 208-F-Fo& w50 aos), otk (e ‘M’
g:}FE* o 2% &8 doad 6 B, Foe 2GS T 8 ‘m’ Q,;ﬁﬁtr% (10 2,8 T°00A
S TG, WP Wothd G 260 836" £88 RArodEANT DT, ZPabd
FRL0 T IS, 3¢ V" wond & erds awe) dPab Sd

Options:
muvR?

2
1.wI+MR

(m + M)vR?

mvR2
L It (M + m) R?

3

muvR?
4 % I+ (M —m)R?

Question Number : 92 Question Id : 544734252 Display Question Number : Yes Is Question
Mandatory : No
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A block of mass 1 kg is fastened to a spring of spring constant of 100 N.m ™. The block is
pulled to a distance x = 10 ¢m from its equilibrium position (x = 0 cm) on a frictionless
surface. from rest at t = 0. The kinetic energy and the potential energy of the block when it 1s

5cm away from the mean position is

1kg 32703 i B, 28 E::gorb 2 9BSdCAE. :?:agoﬁ e %\U"osan 100 N.m™ .
B3] % 2698 BVK0R PRTFR (x = 0em) 38 Do =0 o ¥ =

10 em drdadn erfiTrd. bfdéﬂ)é %“é&fm Aol 5 cm Grddns” t.%é‘l*.q_)bci) &‘:353{1_,’ CGDSG
(532 SuB0dw f’g@a 3D shodomr

Options :
1. 0.37517], 0.1251]

> = 01257, 0.3757
3 » 01257, 01257

4 % 03757, 03757

Question Number : 93 Question Id : 544734253 Display Question Number : Yes Is Question
Mandatory : No

The scale of a spring balance which can measure from 0 to 15 kg 15 0.25 m long. If a body
. . : . . 2w ,
suspended from this balance oscillates with a time period r seconds. neglecting the mass of

the spring. find the mass of the body suspended.

0 &voc. 15 kg Ociorben o 28 yorh gr aing), ew 0.25 m TeY &) 6. & QYo

2
TN UPEAND 28 HR0Y) JodHdesns’ ?n RERL 508 TRAS" Evw
B3 8. Qord ave), G703 Dh&éo&é&gwé, DTG AN G303 dody?

Options :
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Question Number : 94 Question Id : 544734254 Display Question Number : Yes Is Question
Mandatory : No

The distance through which one has fo dig the earth from its surface so as to reach the poimt

where the acceleration due to gravity 15 reduced by 40 % of that at the surface of the earth. 1s
(radius of earth 1s 6400 km)

3P 6008020 Ao dod ' 36 HAB(ORL Deosd, A GHBSVP &)

e Beao Dewodd’ 40 % 3 ? (8 35&856400 km ™ &80l

Options :

1 ¢ 2560 km

5 % 3000 km

3 % 3260 km

4 = 1560 km

Question Number : 95 Question Id : 544734255 Display Question Number : Yes Is Question

Mandatory : No
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Infinite number of masses each of 3 kg are placed along a straight line at the distances of 1 m.
2m,4m,8m, .....from a point O on the same line. Ig G 1s the universal gravitational

constant. then the magnitude of gravitational field intensity at 0 is

28)818 3 kg B[00 B8 Roa S’ 2.8 POVEDS" 2,8 Doddy 0 Aect 1m. 2m,
4m.8m. ... SFTOS &) 0. FEBE DD gmosm G owd 0 36 MHAS £
R 031)58} 20800

Options:

. % LOG

, % 206

3 % 3.0G

440G

Question Number : 96 Question Id : 544734256 Display Question Number : Yes Is Question
Mandatory : No

Young’s modulus of a wire is 2 X 10** N.m ™2, If an external stretching force of 2 x 10 N is

applied to a wire of length L. the final length of the wire 1s (cross-section = unity)

&M Cwg) afdofs (s 2 X 101 N.m™. L T o & 2 X 10M N erdrg vt
edaIrfod) B3, &8 & B06 T od? () 51680 =D57080)

Options :

1.@,215

, x L5L

3. Fo 3 L
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4w 125L

Question Number : 97 Question Id : 544734257 Display Question Number : Yes Is Question
Mandatory : No

Identify the mcorrect statement regarding Reynold’s number (R, ):

R, 00036 3778 Doad] ©00d & Sobd T25° 288

Options:

for R, < 1000. flow is lanunar
R, < 1000 900836, RboDh HI A

for 1000 < R, < 2000. flow 1s steady
1000 < R, < 2000 2900860, QEE D700

for R, = 2000. flow is turbulent
R, = 2000, RoLo8) oo e b

R, 1s a dimensionless number
R, ©2038 HGrd Ro8dy

Question Number : 98 Question Id : 544734258 Display Question Number : Yes Is Question
Mandatory : No

Expansion during heating:
¢ Dokt HPd THE DL HOD DIPHB?

Options :
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increases the weight of a material
DRV CINE), LYY DEAABH

decreases density of material
DY G, FoBd BdIed

Occurs only in solid
200 ﬁwg‘uﬁ" SR 2BV

Occurs at same rate of all liquids and solids
GTe0 208050 WDVETT VS’ 28 LS 20MB0E

po—

4. %

Question Number : 99 Question Id : 544734259 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

Column-I Column-II
(a) Ratio of change in time period of a simple pendulum with .
temperature to its original time period IR
(b) Ratio of the value of a length to ifs scale reading (@) T

(¢) Reciprocal of coefficient of volume expansion for an ideal

. (111) (14 aAT)
gas of constant pressure

. of -
(d) = (iv) - aAT

208 TN BANGIG]

S8R -1 S0 -II

(a) egf’rj@S LG VEA W), EOTIE TAE'
STENS, B B 86N TEEAS g

(b) T ), A DAL T 20 o & o) AN (i) T

(0) R0 DED B ©E6) Tk WRLBETM Dinaw

aME), D[ (1)) (1+ @AT)
4 e L
D= (¥) > adT
Options :

. (a—iv),(b—ii),(c—i),(d—iii)
o (a—iii),(b—iv),(c—ii),(d—1i)
L x (a—iv),(b—1i),(e—ii),(d—iii)

4w (a—iv),(b—iii),(e—ii),(d—i)

Question Number : 100 Question Id : 544734260 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following 1s NOT a reversible process?

& 308 TS DA B3 HICH S

Options:
Melting of ice

|y S0 BDZBHHA0

Conduction of heat
& HI6AD
2. %

Isothermal expansion of gas
, o5 DM aigﬁ;j@éf ;:vé%"rn:m

Adiabatic expansion of gas

Teos) HENRS :.r"é%ﬁ::ﬁma
4, % il <<

Question Number : 101 Question Id : 544734261 Display Question Number : Yes Is Question
Mandatory : No

Which one of the graphs below best illustrates the relationship between mternal energy U of an
1deal gas and temperature T of the gas in K7

AL ﬁcﬁdga“ojm;g) R, wedds 3S SBatn Train aae), agge:m m¢5 020G

S00td T

Options:
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w

L 4

2w £
ul
0 -
3_@5
al
\
sx ° F

Question Number : 102 Question Id : 544734262 Display Question Number : Yes Is Question
Mandatory : No
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A refrigerator with coefficient of performance 0.25 releases 250 J of heat to a hot reservorr.

The work done on the working substance 1s
dosrded dnde 0.25 £DA ¢ 89<0n adogdaan 2507 SN egaom:mm

Deacser B0o8. £ B DIFGAND 2648 1

Options :
100

1.8 3

, % 1507

3 v 2007

4 % 507

Question Number : 103 Question Id : 544734263 Display Question Number : Yes Is Question

Mandatory : No

A vessel has 6 g of oxygen af pressure P and temperature 400 K. A small hole 1s made in it so that

” ; P .
oxygen leaks out. How much oxygen leaks out if the final pressure is P and temperature 15 300 K?

2G50 P bt &gd@ 400K bg 28 FB6yg Géﬂya&fﬁ 9h &) 8. ?3%&5 AOWALY)

P
S50y % DR) Gogid BT 6 DESIW — 0ot 630 300 K 5¢ o8 e
BODBE) Si30\07

Options :
% 29

2_234.5'
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Question Number : 104 Question Id : 544734264 Display Question Number : Yes Is Question
Mandatory : No

Match the following:

Column-I Column-II
s . . 4\
(a) Transverse wave through a steel rod (1) |B+ (E)?
(b) Longitudinal waves in earth’s crust (11) L2
p
2 i 2nT
(¢) Longitudinal waves through a steel rod (111) —
g
, , : A
(d) Ripples (1v) F
So8 TR 2SDGeC
SR - 1 2000 - 11

(a) 28 G 8 oo B Sdorren @ B+ (%)1

P
(b) ZreHddNS’ wmﬁ%adomw (ii) %
ZﬂrT
(c) &8y Sé. ANy wmu@gﬁeﬁdomw (iif) ﬁ
(d) eow s i
@ [
Options :

o Ca—ii),(b—i),(c—iv),(d—iii)
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(a—i),(b—iii),(c—iv),(d—ii)

(a—iii),(b—iv),(c—1i),(d—ii)

3. %

4 % (a—ii),(b—iv),(c—i),(d—iii)

Question Number : 105 Question Id : 544734265 Display Question Number : Yes Is Question
Mandatory : No

Light of wavelength 300 nm in medium A enters into medium B through a plane surface. If

the frequency of light is 5 X 10™* Hz and the ratio of speed in medium A to that is medivm B

. 4 [Tl , .
s P the absolute refractive mdex of medium B 1s.

300 1m SofEg0 (50 5708 D00 EOVK BT AIFHLAN 4 dod oY B
6°24 330008, 708 FEYA(EW 5 X 10™ Hz eand 4 Bk asrdsin B o Jro

4
:)?’..1:}@ = o0d, airdssaw B a8, 20 S8 HEsaw Jod?

Options :
1. ¢ 16

, « 15
3 % 13

4 x 145

Question Number : 106 Question Id : 544734266 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

In Young's double slit experiment. the separation between the slits 1s halved and the distance

between the screen 1s doubled. The fringe width 15

oo 20t DS HaTrdaws’ HdLw 065§ Gr0m) WS Bhod D¢ HBotn 36 06§
Grey 08omy) BT, 08 ey
Options :

Unchanged
| % ST

Halved
o 900 d

Doubled
6&3@1’9_} e9:)EB00 B

Quadrupled

4 S baSTe AR Sbu) T bT-TA)

Question Number : 107 Question Id : 544734267 Display Question Number : Yes Is Question
Mandatory : No

Gauss’s law helps in:
TR Ao B¢ &HAIrEHEIA

Options :

Determination of electric force between point charges
, Do 8IT0 20y DENS LBV ST LS

Situation where Coulomb’s law fails

£t DodHa HAFAD 363{3@3&:6‘
2. ®
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Determination of electric field due to symmetric charge distributions

y FHD D3 D6 S05 D61E DS £B308) ST D
3. o ey

Determuning electric potential due to symmetric charge distributions

n ﬂ“gb e30% D0 DD K}dbé. :Jci:igé ﬁ“ﬂ%oﬁaﬁ A SAH LI

Question Number : 108 Question Id : 544734268 Display Question Number : Yes Is Question
Mandatory : No

Charge on the outer sphere 1s ‘q” and the iner sphere is grounded. The charge on the inner
sphere is ', for (r, > ry). Then

ey i e Deferdsw ‘g’ abaio 6" Hvidw zirhd 936, &% Hvaw
Qo6 DD q' (1 > 17). O

Options :

1 % q'ry = qr;

> % 4 =49
o TE,
3_$3q ra

Question Number : 109 Question Id : 544734269 Display Question Number : Yes Is Question
Mandatory : No
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Four capacitors with capacitances C; = 1 uF. C; = 1.5 yF.

C3=25pF and C, = 0.5 uF are connected as shownand —— | .
S T ¢ Gy :
are connected to a 30 volt source, The potential difference b

_“_. i; }__

between points a and b is: Ca
a0V

C,=1pF.C, =15pF,C; =25 uF %0800 C, = 05 pF il
50 $98% SFHLE L HLANS’ ErHP ASsnrT 30 V 25508

S0 EAGRR. 008 a 280 b Dot 206 THJyahe

BEGE odh?

Options:
1.% 5V

2 % 9V

, % 10V

4w 13V

Question Number : 110 Question Id : 544734270 Display Question Number : Yes Is Question
Mandatory : No

In a potentiometer of 10 wires. the balance point is obtained on the 6™ wire. To shift the balance

point to 8" wire, we should

10 Srfew DA 2 S“ﬁgc}rhm& &', 63 8D Dodowd Do) mdbda&. A B
S 36y BoBethHti) 2 ::mjr@?

Options :
Increase resistance in the main circuit

v DEED HOADAWS” ITEY Dotd
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Decrease resistance in the main circuit
DED HVADLEADS” ATy ejﬁat:fﬁ'l

Increase resistance in series with the cell whose emf 1s to be measured
D620 ERFTDDODD DoerDS Fedes” :)ﬁgnz}l 2ot ®)

Decrease resistance 1 series with the cell whose emf 1s to be measured
D.67.2) ST DDVVD 20erIS 363" Ty @Qaﬁ“ﬁ)

Question Number : 111 Question Id : 544734271 Display Question Number : Yes Is Question

Mandatory : No

In a co-axial. straight cable. the central conductor and the outer conductor carry equal currents in

opposite directions. The magnetic field is zero

28 DPEol 8R) 2 Sewd &’ mag SO0 EPaP] TIPEL NATR !Dc:ioéé DTTON
BIGGEY G365 59 &%) 2. oS I8 6 LALF0d B0 Br0rio?

Options :

outside the cable

Sewed & a.:“;’:f'é;fmrr
1.4

mside the inner conductor
65" 098 Trires) S0 DENO

mnside the outer conductor
eI TPES 6708 PP

in between the two conductors
ot TTTVL D06 2rriSo0es”
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Question Number : 112 Question Id : 544734272 Display Question Number : Yes Is Question
Mandatory : No

The magnetic field. of a given length of wire for single turn coil. at its center 1s ‘B’. then its

value for two turns coil for the same wire 13
wﬁbé T 6o A w8 mgss 07 S ag e&oﬁ:ﬁ"&o@ 260 ‘B’ 08 A Bot
co80) @R D6 Ded

Options :
B

1.8 4

Question Number : 113 Question Id : 544734273 Display Question Number : Yes Is Question
Mandatory : No

A solenoid of length 60 cm with 15 turns per cm and area of cross section 4 X 107 m*

completely surrounds another co-axial solenoid of same length and area of cross-section

2 % 107 m” with 40 turns per cm. Mutual inductance of the system is

60 2010 TEY) D5 P01 15 i 685, 4 X 107 m” 26 DTREL $9AS 18
ToTER 08 T, 2 X 107 m” 2gB6 dTow ¢9A, 93 Roiied & 40 cot
D% 0bg FoTaNES dobaded. 8 Si3% aws) (08 Jod?
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Options :

1 ¢ 9mH

5 % 6 mH

3ﬁ3mH

4 = 10mH

Question Number : 114 Question Id : 544734274 Display Question Number : Yes Is Question
Mandatory : No

A bulb of resistance 280 () is supplied with a 200V AC supply. What is the peak current?

280 0 FGA Ao 28 000 200V 235738 g0 0. DTersn 08 Dend

Options :
Nearly 14

14 & &eorr
1. o

Nearly 24
2A 8 =laleloy

Nearly 1.4 A
1448 laleloy

Nearly 2.8 A

2.8 A 3 &aom
4. % n
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Question Number : 115 Question Id : 544734275 Display Question Number : Yes Is Question
Mandatory : No

The magnetic field of a plane electromagnetic wave 1s given by B = (400 ¢ T) sin [(4.0 X

= X i i ; ;
102 l) (t — ?)] Average energy density corresponding to the electric field 1s

00,08 ESAES" Doy Dcﬁ:&doﬁa&boa Borin BSR A(ied.

B = (400 1 T) sin [{4.0 X 10%57) (r —{)] ey £ SROBOT K000 4 o5 Jod?
Options :

=3 -3
% 8%107°Im
, » 31.8x10° IL.m™
—3 —3
5 % 80x107° ILm

4 % 318x10°Tm™®

Question Number : 116 Question Id : 544734276 Display Question Number : Yes Is Question
Mandatory : No

The de Broglie wavelength associated with a proton under the influence of an electric potential
of 100 volts 1s

100 V Desog TEaS erddnd Terdd Rowoin &) e’ 861552 Jods?

Options:

|« 1227A

5 & 2.86 pm
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;% 12274

: S
4 % 1146 X107 m

Question Number : 117 Question Id : 544734277 Display Question Number : Yes Is Question
Mandatory : No

The ionization potential of hydrogen atom 1s 13.6 V. How much energy need to be supplied to
ionize the hydrogen atom in the first excited state.

TESS g waHEcn TOS 13.6V. wond wdd edesd Fond’ TEad
DEATER VADAEBOCHLE) BIVEAI0NH 3§ Dodd?

Options :
13.6 eV

, % 27.2€V

3 v 34eV

4, x 68eV

Question Number : 118 Question Id : 544734278 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement is correct?
NS TEES° DT DOWHAL DE?
Options:

1. %
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The rest mass of the stable nucleus 15 less than the sum of the rest masses of its separated nucleons
;’gdﬁw &) Sodsn Jom ol o 9066’ S0 DEE T G300 2080 S0t B

The rest mass of the stable nucleus 1s greater than the sum of the rest masses of its separated nucleons

. RO &) SoSw JT°: GIT3 2906I8'R STV GG DT GO H00 B o) A%
2. ;

In nuclear fission. energy is released by fusion 1s of two nuclei of medium mass (approximate 100amu)
- Sogi ANGY w8 AFRH B[T300 (0 Gt SodS"ey MATRHAN Do AWAT 3§

In nuclear fission. energy is released by fragmentation is very low atomic mass nucleus
n S0l Dﬂ){:@e’i" EO° B89, G730 DOATERD So@S A8 THY 33 DDA

Question Number : 119 Question Id : 544734279 Display Question Number : Yes Is Question
Mandatory : No

The length of germanium rod is 0.925 cm and its area of cross section is 1T mm?, If for germanivm n, =

25 X10%m™3, p, =0.19m?/ v —s, , = 0.39m?/ v —s. then the resistance of the rod is

%8 80, JaH sé oa0g), a3 0.925 cm 3000k T S0(3\3 FTREW Lmm’, B8, JahAnde)
;=25 x10%m™%, p, = 0.19m?/ v —s, p, = 039m%/ v —s wond & Sé ag), B

Options :
1. % 250

5 & 4.00Q

, % 500

4 % 1000
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Question Number : 120 Question Id : 544734280 Display Question Number : Yes Is Question
Mandatory : No
In an amplitude modulated signal the maximum amplitude 1s 15 V and ninimum amplitude 1s

5V. The amplitude of modulating wave will be

28 S0 HBLA wm@a& SPRGA NodddAn ag); (102 bk 53%1 o DB

ST 15V obain 5V eond mm5m15 B0ofi So0 DBLA doth?

Options :
| % 5V
> 10V
3 % 20V
4. % 30V

Chemistry
Section Id : 5447346
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Question Number : 121 Question Id : 544734281 Display Question Number : Yes Is Question
Mandatory : No

Assuming that the mcident radiation is capable of ejecting photo electrons from all the given metals.

the lowest kinetic energy of the ejected photoelectron is observed with which of the given metals?

Brbd tronds &'dfup H8520% Dibo ©) 60 Aol 508 QTS V) GO
SORYYED ELrBodGS JUSD g (338, D §IP0 Qo DLVIER, B IS I EotR

Options :

Question Number : 122 Question Id : 544734282 Display Question Number : Yes Is Question
Mandatory : No

If the energies of two light radiations E; and E, are 25 eV and 100 eV respectively. then their

respective wavelengths A; and A, would be in the ratio A: 4; =

B0t 508 D36rTe Ferdo 33 Devsen E; 080k E, 00 SERT 25 eV 20800 100 eV,
3 Sorig L0 4y 000t 1, © Anyd

Options:
1 % Zia
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Question Number : 123 Question Id : 544734283 Display Question Number : Yes Is Question
Mandatory : No

The electron configuration of Fe3* is (atomic number of Fe = 26)
Fe*" cqog), Jugd D0 (Fe 64760 o =26)
Options:

1 % [Ar] 3d® 4s?
5 % [Ar] 3d® 4s°
3 » [Ar] 3d® 4s°

4w [Ar] 3d® 4s°

Question Number : 124 Question Id : 544734284 Display Question Number : Yes Is Question
Mandatory : No

The element with outer electronic configuration (n — 1)d* ns’, where n = 4, would belong to
n=4& (n-1)d* ns* d PP QTS DT (0 AP & Do,

Options :

2™ period, 2™? group
2 3 DBOHE, 2 D 4rD

1. %
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4™ period. 4™ group

4 B HBaDE. 4 B 4rD

4™ period. 2™? group
- 4 5 DBADE. 2 B (4D

nd : th
27" period. 4 group

) w 2 & DBADE. 4 D 3rd

Question Number : 125 Question Id : 544734285 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct option regarding the following statements:
Statement-1: Nitrogen has lesser electron gain enthalpy than oxygen.

Statement-2: Oxygen has lesser 1onization enthalpy than nitrogen.

13 Sr8sonan: PEE0S, 8d\BS s )9 JoTS T Jogrdy oo
PR asésamn: 5\BOD, DB ) B4y D ArRIND a)et;"g);j B0t

Options :

Statement-1 is correct. Statement-2 is wrong
L, 1D 2380000 DTG, 2 S H{3E6eID S,

Both statements 1 and 2 are wrong

|, 1aosoin2 s D{ESCLR Dot Sy
2.

Both statements 1 and 2 are correct
3 1 508adn 2 5 bﬁ%ﬁdﬁ;ﬁm Cotir® Fagééﬁ
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Statement-1 1s wrong. Statement-2 is correct
1 5 H[SE0080 By, 2 D HFECLI0 VPG

Question Number : 126 Question Id : 544734286 Display Question Number : Yes Is Question
Mandatory : No

Among the given configurations. identify the element which doesn’t belong to the same fanuly
as the others?

T QrUSY VS 3):?]5";00 do6s APDeREAD. TS AP 28 (roL) Bot. &
APOE) Tothd Srete DA?

Options:

2 0.5
1.¢[Ne]35 2p

- [Ar] 3410 452
_ [Kr] 4d1° 552

4 x Xel4f™ 5d%° 4s”

Question Number : 127 Question Id : 544734287 Display Question Number : Yes Is Question
Mandatory : No

Which compound among the following has the highest dipole moment?

208 T8e5° B2 BSB(HS OIEDIFTSID &) BF

Options :
NH;

1. %
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Question Number : 128 Question Id : 544734288 Display Question Number : Yes Is Question
Mandatory : No

How many among the given species have a bond order of 0.57

800 RIEICRD 2PAVS” 06 SAT0SIW 0.5 T &) D I ?

+ + - +

H . He, . He, . B, . F, . Be.

Options :

1.332

Question Number : 129 Question Id : 544734289 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Match the following?

Molecule Geometry
(a) SnCl, (1)  Angular (or) Bent
(b) XeF, (1) See-saw
(¢) CIF; (1) Square pyramidal
(d) IF: (iv) T-shape
(v) Square planar

$o08 TR 2ABoIVAN?

L) erY) B85S
(a) SnCl, (i) E'habo
(b) XeF, (i) @rho vy
(c) CIF (1) SSER RArEr(s~do
(d) IF: (iv) T essyd
(v)  Rdode B8R0

Options :
, x (@a—1),(b—iii),(c—v),(d—v)
, & (a—iv),(b—v),(c—i),(d—iii)

3¢ a—1),(b=v) (c—iv), (d—iii)

4 % (a—iv),(b—1iii),(c—ii),(d—v)

Question Number : 130 Question Id : 544734290 Display Question Number : Yes Is Question
Mandatory : No
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Among the following. the maximum deviation from ideal gas behavior is expected from

8560, T 6D Ao, V[BE JSVT) TaD0:Y) $9 Sokot) EPotiSN.

Options :

%

CH
)

NHs
3. ¢ 3 (g)

4 % 2 (g)

Question Number : 131 Question Id : 544734291 Display Question Number : Yes Is Question
Mandatory : No

Two flasks A and B have equal volumes. A 15 maintained at 300K and B at 600K. Equal masses
of H, and C0, are taken m flasks A and B respectively. Find the ratio of total K.E of gases m
flask A to that of B

A 8050 B & Got drgen 48 20s0Barnn $00 63). A 3% 300K 56, B Fg®
600K 56 6oy, DA gd{orven o H, & C0, S0 Tatndu A, B Fgud’
B84, A 30001 B g6’ o o000 2083w (132350 A

Options :

. = L
2w 11: 1
3 % 33: 2
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4 % 2917

Question Number : 132 Question Id : 544734292 Display Question Number : Yes Is Question
Mandatory : No

If 0.2 moles of sulphuric acid is poured in to 250 ml of water. calculate the concentration of the solution?

250 ml © zeErdned” 0.2 arde ;’owbéﬁé B0 &) YR & T MG

Options :
1 % 0.8 N

, » 08M
5 x 8M

. % 02N

Question Number : 133 Question Id : 544734293 Display Question Number : Yes Is Question
Mandatory : No

For the redox reaction
Mn0j + C,08” + H® - Ma** 4 €0, + H,0 . the correct coefficients of the reactants for the

balanced reaction are respectively Mn0; ,C,0f and H'

MnOg + 05 + H = Mn** + €0, + H,0 @& 8e§y w6(% Mn0; , (0§ 20808
H o thnseen S
Options :

v 2,5,16
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, % 16,3,12

.« 15,16,12

4 % 2,16,5

Question Number : 134 Question Id : 544734294 Display Question Number : Yes Is Question
Mandatory : No

When the temperature of 2 moles of an ideal gas 1s increased by 20 °C at constant pressure.

find the work mvolved in the process.

230 SED0 365 2 Areww BEs) T 8], &AW 20 °C © Dot & piane”
FEs) 6 & PATHAD

Options :
1. % 5R
2 40R

5 % 15R

4 % 20R

Question Number : 135 Question Id : 544734295 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Using the data provided. find the value of equilibrivm constant for the following reaction at

1
298 K and 1 atm pressure. NG‘(g.J + = 0, i NO, @

)
0 -1
AH(NO) = 90.4 kl.mol

0 un =1
A;H° (NOy ) = 3248 kd.mol

(
AS° @298 K = 708 I.K L.mol ™
antilog(0.50) = 3162

. . . S, =4 g
2 de}o?:}l enairfew. 298 K. 1 atm o6do brg NO .+ - 0, © NO, @ 65(‘.’}553

(8
ﬁm@“?&}@ %}U"oﬁo 2N AdetdAL

Options :

| % 3162 x 10°

, % 3.162x10°*
3 v 3.162 x 108

. 107
4w 3162 X 10

Question Number : 136 Question Id : 544734296 Display Question Number : Yes Is Question
Mandatory : No

Calculate the pOH 0f 0.10 M HCI solution.

0.10 M HCI gradeasdhn sy, pOH Ded dodh?

Options :
1.v 13
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4 % 14

Question Number : 137 Question Id : 544734297 Display Question Number : Yes Is Question
Mandatory : No

Which among the following pairs is not an acidic buffer?
S0l To3e5° 32 wD6 oo 5B AT
Options :

1 % HCOOH & HCOOK

, o HClO4 & NacClo,

o % CoHsCOOH & CeHsCOONa

4 % HCN & KCN

Question Number : 138 Question Id : 544734298 Display Question Number : Yes Is Question
Mandatory : No

Assertion(A): The colour of old lead paintings can be restored by washing them with a dilute
solution of H,0,.

Reason(R): Hydrogen peroxide reduces PbS to Pb

DI BA(A): w30 H,0, Tdned S4A PUdd O& 8o AFD Gorby DRSOt
Senan(R): TE2S 205G POS & Ph I £00880tR.

Options :
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Both A and R are true and R 1s a correct explanation for A
A 208030 R Godor DBADAD. 08030 R 958 A & 2B DdH6e

Both A and R are true but R 1is not a correct explanation for A
A 308050 R Gotir D8R, 57 R 0938 A & 580D D60 S0

A 1s true, R 1s false

L o A RBR8, 52 R 26 50

A 1s false. R iz true

, x APB5W®, 50 R 20qHIG

Question Number : 139 Question Id : 544734299 Display Question Number : Yes Is Question
Mandatory : No

In the preparation of baking soda. H,0 and €0, in ratio 1s used to react with Na, C0;.

8806 T doirbes’ 20B0% 86" H,0 300030 (0, 0 GHAFHFE

Options :
1. % Al

Question Number : 140 Question Id : 544734300 Display Question Number : Yes Is Question
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Mandatory : No

The structure of diborane B, H, s given below, Identify @
the bond angles x, v. In diborane, are 7 N,
commonly known as banana-bonds @. . " T ? a h;ﬂ,@

O A i j .\\\
GE8 N0 t30 DtotS” RAEEDB. X,y 068 Ee ‘\\ . f \\
SR0F 00 6ai 2 Fronor N \

o o LY ;
B\t
BT WoGTRN) o). '

Options :
x = 101° y = 118° and 2-centered-3-electron bonds
x = 101% 3p=118° obaias 2-§u@5-3-6}u§5 ElolI"e

x = 97° y = 120° and 3-centered-2-electron bonds
¥ =977 y= 120° 08000 3-&@5-2-3@55 eolTen)

2.

x = 118° v = 79° and ionic bond between the two B’s

¥ = 118% v =797 306ai1 Gets B © &JQJS L0 DS oo
3. %

x = 79° v = 118° and ionic bond between the two B's
4 % x=79% y=118°208cin G B © .;:1;:::5 OIS oo

Question Number : 141 Question Id : 544734301 Display Question Number : Yes Is Question
Mandatory : No

The incorrect statement among the following 1s /are
o0& " 2 DIHWDHW Wb =AA

Options :

1. %
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NClg does not exist while PCl: does
PCls 02008 570 NCls 0ot

Pb preters to form tetravalent compounds

5 Pb Dod@irassd Jrewd e Ao "n:n;ﬁ.)é@::“um ﬁébmm

The three € — O bonds are equal in the COZ ion

- CO3~ e0ira0es” e € — 0 ofen RATIAD

Both 0F and NO are paramagnetic

07 20080350 NO Totr, JT° 0D o Sloge i
4, %

Question Number : 142 Question Id : 544734302 Display Question Number : Yes Is Question
Mandatory : No

Which among the following has the highest concentration of PAN?
2087OS° wajos mESS® PAN D 97 Gocond D67

Options :
Acid Rain

£3550 HCo
1.8 ° =

Oxidizing Smog

&.&66 1A
z.wﬁg’ Y

Reducing Smog

£oDESe 5"&5
3. %
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Ozone

LED

Question Number : 143 Question Id : 544734303 Display Question Number : Yes Is Question
Mandatory : No

What is the TUPAC of CH;CH(CH,CH3)CHO ?

CH3CH(CH,CH3)CHO cang), TUPAC r0dm D6 ?

Options :
Butan-2-al
w}gﬁ&-i-aﬁ

2-methyl butanal
2-03S (TS

3-methylisobutyraldehyde

3-Qo@eS 2FerBo-diré

2-ethylpropanal
2-A88 JDHTS

Question Number : 144 Question Id : 544734304 Display Question Number : Yes Is Question
Mandatory : No

Among the following, in which type of chromatography. both stationary and mobile phases are
in liquid state?

306 6" D 6520 E0" 26 P37, S0 3 Dol BIRAE" Gotren?

Options:
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Gas - liquud chromatography
Soa3 - &S ED0e5° 50

Ascending paper chromatography (Partition chromatography)

DedGer 206555

High performance liquid chromatography (HPLC)
TS D S D

Thin layer chromatography (TLC)
D0 TS §D0e5 e

Question Number : 145 Question Id : 544734305 Display Question Number : Yes Is Question
Mandatory : No

The product formed when a hydrocarbon ‘X" of molecular formula CgH,, 15 reacted with sodamide
is subjected to ozonolysis. followed by hydrolysis with Zn/H, 0,. and upon further oxidation gave

two carboxylic acids. of which one 15 optically active. The hydrocarbon ‘X" 1s

Cellyy LRRFEYerm o X 03 8 6\ S VapaS woandy i iy 68y )
L8 TR BN, STS Zn/H,0, 2o506" 20DFRS MY, S610 138 5BotsT
Toth 57075105 esidren D \Eran, DA BArud” w88 ¢S eRD Hed s,

ZESGS X
Options :
Hex — 1 — yne
- 5y — 1 — 29
Hex — 3 — yne

5 % :F§3—3—;35

AP EAPCET 2021



AP EAPCET 2021

3 — Methyl pent — 1 — yne
2 v 3PS5 — 1 -2

3,3 — Dimethyl but — 1 — yne
B,S—Eh‘@ﬁwéeﬁ— 1—2

Question Number : 146 Question Id : 544734306 Display Question Number : Yes Is Question
Mandatory : No

The FCC-crystal contains how many atoms in each unit cell?
FCC 24880 03ng), 0300 2e585° (fo 0D0T780)e0 ) 7

Options :

v 4

Question Number : 147 Question Id : 544734307 Display Question Number : Yes Is Question
Mandatory : No

Which condition is not satisfied by an ideal solution?
BEC) EPORAD B2 DSBS DBJBOLD Da)?

Options:
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Both Ay H =0and Ay S = 0

\ v Dmix H =0 208080 Ay § = 0

Obeyance on Raoult’s law
. T8 Qo) FEdotie)

BothA,, H=0andA,;, V=0
Apix H=0200a30 4, V=0

Question Number : 148 Question Id : 544734308 Display Question Number : Yes Is Question
Mandatory : No

A solution of urea (molar mass 60 g mol™?) boils at 100.20°C at the atmospheric pressure. if
K; and K,, for water are 1.86 and 0.512 K Kg mol ™" respectively. The freezing point of the

solution will be

TTA0E OCHA 56 asrBase (e e @o3 60 g m ol™!) o 28 e
100.20°C :)%5 208D, A Cﬁ.uégj Ke Ky © 2)ENSR SERTT

1.86 208030 0.512 K Kg mol ™ . &3 gradeason D095ad .g“é;fm

Options :
1 % —0.654°C

, % +0.654°C

3 » —0.726°C
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4 % 10.726°C

Question Number : 149 Question Id : 544734309 Display Question Number : Yes Is Question
Mandatory : No

At 291 K. saturated solution of BaS0, was found to have a specific conductivity of

3.648 X 107° ohm ™! em ™" and that of water being used is 1.25% 107° ohm ™ em ™. If the

2

ionic conductance’s of Ba>* and S0}~ are 110 and 136.6 ohm™" em? mol ™" respectively.

the solubility of BaS0, at 291 K will be [ Atomic masses of Ba — 137 ,5 — 32,0 — 16]

291K 3¢ Hody2 BaSO, Grdesn aog) H3Y Trea(w 3.648 X 107 o™ em™*
SoBak &R N e, D Tirgagn 1.25% 107° ohm™ em ™.

Ba®" 200010 505~ © ©irdS TIrEdiAn Dende SO 110 ohm™ em® mol ™
208030 136.6 ohm™ cm? mol™ eond 291 K 3¢ Tatabd  [Désre
g0 Ba—137,5 32,0 - 16]

Options :
—3 -1
- 1435 x10 " gL

10=-3 » 71-1
5 o 2.266 x10 " gL

5 % 2.843x1077 gL™!

, « 1.768x1073 g L7?

Question Number : 150 Question Id : 544734310 Display Question Number : Yes Is Question
Mandatory : No
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i : ) i 0
Find the emf of the following cell reaction, given EL_
T

~042V at25°C is Cr|Cr3* (0.1 M) || Fe?* (0.1M) | Fe

0
=—0.72V and EF€2+ =

i+ /Fg

ch2+

25°C 3¢ Cr | Cr* (0.1M) || Fe®* (0.1M) | Fe 3ot dog), emf (E =

cr¥tjer -
~072VadE - =~0427)

[Fe

Options:
1« 030V

, % 025V

5 % 114V

Question Number : 151 Question Id : 544734311 Display Question Number : Yes Is Question
Mandatory : No

BE + _ Yyields 2t 0 i
For Cry00 + 14H' +6¢” — 20 +7H,0, E° =133V at [CI'EO;, ]z 45

millimole, [C?‘B+] = 1.5 mullimole and E = 1.067 V. then calculate the pH of the solution.

relds

s y =
Cry0y + 148" +6¢” — 20r* +7H,0 w07 E° Deosd 133V [Crzof ] — 45
Dodarevwn. [(1*] = 15 Dodareses eatos E = 1.067 V gromsw pH Jos?

Options :

1w 2
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4 %15

Question Number : 152 Question Id : 544734312 Display Question Number : Yes Is Question
Mandatory : No

The protective power of a lyophilic colloidal sol 1s expressed in terms of
w8 dairads Sorand v HB0R S“mgrshl EIVA)AED R EHATATFE?

Options :
Critical micelle concentration
‘rb-:::&g aDe) reied

Standard reduction potential
DA LOSCE THIoDES

Gold number

F?eﬂj SRS

Oxidation number
U%Scjea ‘rbcaag

Question Number : 153 Question Id : 544734313 Display Question Number : Yes Is Question
Mandatory : No
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Due to pmr — prr bonding interactions, nitrogen for N,. But phosphorus forms and does
not form a diatomic molecule.

pI — DT oo @35565 &0y D00 A N, 08 BERHEATRS ©RP J6YEEORD.
P80 0 D66 T BEOBATIS PR Do\6.

Options :

Question Number : 154 Question Id : 544734314 Display Question Number : Yes Is Question
Mandatory : No

Identify the mcorrect statements among the following?
(1) SFg does not react with water
(i1) SF, is sp3d hybridized
(i11) Szi):_ 15 a linear ion
(1v) There 1s no w-bonding in S Oj " ion
BAD FDND DIBT VS’ DB Sy?
(i) SFs N8 6] Towsesd
(i) SFg&" sp>d DosdE0etw &6
(ili) S,0; 28 BDOD Do=YeB0 (0 OIS
(iv) SO;  eairds® T-tomen G

Options :
AP EAPCET 2021



AP EAPCET 2021

(11). (111) & (iv) only
1 ¢ (11). (111) & (iv) S-S0

(1). (11) & (111) only
5 % (1), (1) & (ii1) Socegdao

(i) & (ii) only
o x () & (ii) S

(111) & (iv) only

4 % (11) & (1v) Soreddd

Question Number : 155 Question Id : 544734315 Display Question Number : Yes Is Question
Mandatory : No
Which statements among the following are correct about Helium?
(1)  Liqud helium is used to sustain powerful superconducting magnets.
(i) Liquid helium is useful to carry low temperature experiments.
(1) It1s a heavy gas.
(1v) It 1s a flammable gas.
2PB0HS) L Doerodeld) & S0 HFT(RS" DB VFHA?

(i) @ rdafo & AT rS 0D 08 ST() JPLL T T
(i) edpy agﬁgav 56 Ao HOIFTTY £ &5 rdakio FETd
(i11) €8 PO TP
(1v) 08 006 AEFDAW (0 T80

Options :

(i) & (ii) only

o () & (i) argd
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(ii) & (iii) only
(i) & (iii) Qoo

(i) & (v) only
L o () & (V) 273

(iii) & (iv) only
4w (i) & (iv) argd

Question Number : 156 Question Id : 544734316 Display Question Number : Yes Is Question
Mandatory : No

The magnetic moment of Fe®™ is B.M.

Fe?" chwg), 90 o erdso Dend B.M.

Options:
1. % 3.87

2. % 0
3 v 49

4 % L73

Question Number : 157 Question Id : 544734317 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement 1s not correct?

&R0 &Y DIBT LS DA DO = ?
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Options :

Fe®* [Fe?* redox couple has less positive electron potential than Mn* /Mn?* couple
- Fe'"[Fe® bu=8y ad, Mn®" /Mn* a8 &) 8833 (g8 s J0EE TR0 $9h otiod

MnOZ~ is a strong oxidizing agent but Cr0Z~ is not

, » MnOZ™, Cr0F~ 677 LwRD 83180 SEEHW

The second and third series of transition elements have almost similar atomic radii

98567 APUEY Got) B0KN JPE) FweD AT 28 DT :f’gé‘g;ﬁn 9h &otran
3. %

The E° value for Mn®t /Mn?* couple is much more positive than for Cr**/Cr?* couple

Crit/Cr™ ad s), Mn® /Mn*" 2 oang) E° eod orer d85 ra s
4, ®

Question Number : 158 Question Id : 544734318 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): An optically active amino acid can exit in three forms depending on the pH of the solution.
Reason (R): Amimno acids contain both acidic and basic groups. they exist as zwetter ion m aq. medivm,

anionic form 1 acidic medum and cationic form in basic medium

R\ (A): 8 G0 Fdomd Uiy i B2 a6 ag), pH  SEr6C, S drarl
ot

Tonsw (R): ©0S e3:3re SBaby B0 vrten $8A Gotoid. ©) 20 Vs’ 200 Lo
BP8008° GolR, B3 OFRLANE’ BRATS 6FIAY, TG AFLANE’ TROIFS ERaANS’ Sod

Options :

A and R are correct and R is the correct explanation for A
| % A 200030 R 20 900250 208ain R, A 5 20 e90insd D06
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A and R are correct but R is not the correct explanation for A
A 28030 R %8 2005 52D R, A £ 208 e9c3nd DdHG 560

A 1s correct. R 1s wrong

3 A 20 ponad, R 20 onad s7cd

A is wrong. R 1s correct

4 % A D0 220008 AL, R 20 2000086

Question Number : 159 Question Id : 544734319 Display Question Number : Yes Is Question
Mandatory : No

The ITUPAC name of Diacetone alcohol 1s
G AV’ e50) 35S g, TUPAC o0

Options :
4 — Hydroxy pentane — 2 ,4 — dione

- 4 —ES 008D — 2,4 —E 2D

3 — Hydroxy pentane — 2 ,4 — dione
, % 3—TTI DB -2,4 -G 0d

4 — Hydroxy — 4 — methyl pentan — 2 — one

_— 4 — Sy — 4 — PS DS — 2 —wd

4 — Hydroxy — 3 — methyl pentan — 2 — one

, x AT TES)— 3 - PSSO -2 —wd
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Question Number : 160 Question Id : 544734320 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.
& 308 ArDD BOJS” &B\D) 0 DA?

Cl
(i) NaOH,
623 K,300 atm

> 7
(ii) HCI

Options :

Benzene
oo

Toluene

DS

Anihne
. 03

Phenol

4¢§;a‘=e§
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